Ly QB

2 AT RE R TT

4

(3x* — 6)(dx+ 1) + 5 — 2x — 4

(4x + 5)(6x% + 4x + 4) — (4x — 3)(6x — 6)

(x+ 4)(4x* +3x— 5)+ (4x — 5)(5x + 1)

x+ (3+4x)(3x+ 2)(6x—5)

(4 + 2x— 1)(dx— 1)+ 5%x6x— 6

H #A:

o
=

(x+ 2)(6x— 1)(3x— 3)

(> — 2x— 5)(dx— 1)~ 3 x 5x— 3

(6x+ 3)(x+5)(4x+ 1)

(3x® — 5x+3)(4x— 3)+ 6 x 3x + 4

(3x — 4)(2x% + 2x + 6) — (4x + 5)(dx + 1)
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Ly QB

2 AT RE R TT

W44

(3% — 6)(4x + 1) + 5% — 2x — 4
122 + 82 — 26x — 10

(4x + 5)(6x% + 4x + 4) — (4x — 3)(6x — 6)
24x3 + 22x% +78x+ 2

(x + 4)(4x> + 3x — 5) + (4x — 5)(5x + 1)
4% + 39x% — 14x — 25

x+ (3+4x)(3x+ 2)(6x—5)
725 + 425° — 48x — 30

(4> + 2x— Ddx— D+5%x6x— 6
16x° + 4x* + 24x— 5

(x+ 2)(6x— 1)(3x— 3)
18x° + 15x* = 39x+ 6

(® —2x—5)dx—1)-3 x5x— 3
453 — 9x? —33x+2

(6x+ 3)(x+5)(4x+ 1)
24x° + 138x% + 93x + 15

(3x% — 5x+3)(4x—3)+ 6 x 3x+ 4
12 — 29x% + 45x — 5

(3x — 4)(2x% + 2x + 6) — (4x + 5)(dx + 1)
6x° — 18x% — 14x — 29
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